KCC Co., Ltd.

AOAAES (F)

KECS

SC/SCS series

ADE Z2EZZ
HA|7|Z
.
7]
METER-IN
)
e
SCS METER-OUT
Al J|Z
SC (01)(06) - ()
@ Alg|z @ HEEEH
SC LA 2IE2] O8] W& AL E 2EZY mm 2 Inch 2&
SCs LAY YE2| DY LY ATE ZEED 03 30 TUBE 1/8 ?1/8
04 40 TUBE 5/32 @5/32
@ &5+ 06 60 TUBE 3/16 ?3/16
METRIC 08 80 TUBE 1/4 @174
3g MS ) M5x0.8 L '8 10 100 TUBE 5/16 05/16
G(PRHHE| GO2 G 1/4 12 120 TUBE 3/8 @3/8
01 | RETI/8 G03 | G3/8 12 0172
GO4 G1/2
RETHE 02 RPTVAGGrmg U 103200 @ A[OjYA
e o3 R(PT)3/8 N1 NPT 1/8 97|15 HEF-OIR(HZ):EZ
NPTES sg sg ;;;1 IN DI EF-QI (=)
04 | RPT1/2 N4 NPT 1/2
ArSS £3
NEX=TY 27| (7IEPZIALE A2 AFRETN o O|M|St RY¥ZHE=2 RA 07t EO[ILICH
JUELIE S ;099@%M0%M%> o 25 5 23 £:20| 360° 3| ISR £2 w3
AHEREe0| ZE0| ANM FEO| 2 DAS L0 AT CH ZHC 2 B RIO| O 2ABH0] AFRSE 4 Q&L|C)
2 -750mmHg(10Torr) - B
Afeec wej 0-600C o LSE[2147} 10~128 422 Z7}e|0f EA0{7} 0|
I — StD UAHEH & L5t
Nesrz= Eai0aiet LOjE 51 YHF £& AP} FH5 BT
o ZB|0|l S2EA| 2R 5H= BRO| A&LCH
2
o 37|UE 1371719 £& A|0{0]| AtESt= YE LT}
o =2 0|0 £57(7|0f &2t5t0] AHZ-E LT
AHEQ|
Meter-Out 24! Z0f Meter-In Al 2|0
Hols LIANEZ222E S0{2& Airg A0 mes DY S0{2E Aire A|0fst
ot= WAIO|H mEYso|M S0 10 LEAMERSROI M S0 2& Aire Al
= Aire AO{5t2| f1 27 S 82 OfstZ| &t AR5 2= SEULCL
S2L|C
s =SSt Mol

www.kccpr.com

AN 2]

SE

ZIHE
o —
BT

Sy
SC, SCS
SC-F

ASCM

KAS2000

/4000

KAS500
/600

SCPV

KHVC

KHVF

KHVU

KHVM

KHBVU

SH



KCC Co., Ltd. .
E Aol Al AHR(F) SC/SCS series

AIE ZES?

AR
HANDLE(BRASS)
LOCK NUT(AL)
BODY(BRASS) NEEDLE(BRASS)
COLLAR(ZNDC)
ST BACK RING (POM)
RELEASE SLEEVE(POM)
\
\
O-RING (NBR)
I
\ . LOCK CLAW(SUS)
Ao U-PACKING(NBR)
a == CASE(PBT)
O-RING(NBR) U-PACKING(NBR)
NEEDLE HOLE(BRASS)
o
S J2jz
control flow free flow
SCM503 160 5 . .
SCM504 Eg- 7 150/ -
2 80 a S 100/ ]
= 60 32 ]
40 1 50
20 g% L]
0 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6 7 8
needle turn pressure(bar)
control flow free flow
SC0104 400, [ [ [ | 2] 500
SC0106 350 7
300 ° 400
SC0108 @ 250 / 55 a2
L 00 7 2 g 300 R S i e T
2 150 3 € & 200
100/ T /f’fﬂ/f | I 1 100
50 t ‘___f__———‘-—-—-___/—_ |
o 1 2 3 4 5 & 7 8 9 10 o 1 2 3 4 5 & 7 8
needle turn pressure(bar)
control flow f
ree flow
SC0204 800 8 1000 _ _
SC0206 700 17 800
sCo208 & 80 ‘ ‘ ‘ . Za | o o 20 =
SC0210 2 400 { ! { ! L~ | a § 600 —
SC0212 2 300 ‘ . . | 38 3 40 /
— £ = /
fgg — [ B — 200 =
o1 2 3 4 5 6 7 8 9 10 1 12 0 1 2 3 4 5 6 7 8
needle turn pressure(bar)

70 www.kccpr.com



KCC Lﬁg% ES% (LE? SC/SCS series

e

AlE 2EZ?

o
SeF Je|=
control flow free flow
SC0308 1400 T 1 T 17 1400 T T —
$C0310 1200 I ! % ° 1200 | ! T |
o 1000 i =155 © 1000
5 il 8 s VD
2 600 +— - 3¢ 3 600 -
= 400 e < 400
200 d___:_f;ff_’,_._-'-:ff:——d_—: ‘__:_._/ L1 200 | ] | l J
| 1 | - || SR
012 3456 7 8 9 101112 13 14 15 0 1 2 3 4 5 6 7 8
needle turn pressure(bar) ame
eI
control flow free flow EE{2|T|E
SC0408 2000 ree’ SEATY
SC0410 A
- | 1 L |
scoa12 & 1500 o 2009 T SC, sCs
2 1000 2 5 0 -
= ] ; 1000 1 = |
500 S e 9 ,/ SC-F
e e 500 / | 1 |
— o
0 1 2 3 4 5 6 7 8 9 10 11 12 13 0 1 2 3 4 5 6 7 8 ASCM
needle turn pressure(bar)
KAS2000
/4000
KAS500
/600
=15 A =
IFz|eE (R(PT)LHAN-SCH SRV
&2l mm
KHVC
L | L H 2% BOX
=4 2D | P T vy e B A B ey T | (EA)
SCM503 3 | 78 | M5X0.8P 27.2 302|214 36 111 8 = 70 | 50 KHVE
] SCM504 M5x0.8P | 27.2 1 30.2 | 251 | 36 8 | 78 | 50
T SC0104 4 105 RPT)1/8 | 349|401 /305 80 163 11 178 | 50 v
| $C0204 R(PT) 1/4 | 40.0 | 45.7 | 34.5 | 10.0 15 | 338 | 50
SCM506 M5X0.8P | 27.2 302 | 27.8 36 8 | 87 | 50
- E _ SC0106 R(PT) 1/8 | 349 401|312 80 11| 177 | 50 KHVM
B SC0206 6 | 125 R(PT)1/4 40.0 457 350 100 | 17.6| 15 | 33.7 | 50
ql 5C0306 R(PT) 3/8 | 46.7 55.0 | 387 11.0 19 | 637 | 25 KHBVU
— $SC0406 R(PT) 1/2 | 53.0 60.2 | 44.9 | 14.0 24 1027 | 25
H“ TW $C0108 R(PT) 1/8 | 34.9| 40.1 | 330 80 11| 197 | 50 SH
. $C0208 R(PT) 1/4 | 40.0 | 45.7 | 36.8 | 10.0 15 | 347 | 50
— Alall e 8 145 18.7
SIS $SC0308 R(PT)3/8 | 46.7 55.0 40.1 | 11.0 19 | 647 | 25
‘ il $SC0408 R(PT) 1/2 | 53.0 60.2 | 45.8 | 14.0 24 | 1037 | 20
<‘ | | SCO110 R(PT) 1/8 349 40.1 359 80 1M 212 | 25
I | $C0210 R(PT) 1/4 | 40.0 457 | 388 10.0 15 | 372 | 25
| J
10 175 19.6
$SC0310 R(PT)3/8  46.7 550 422 11.0 19 | 672 | 25
SC0410 R(PT)1/2 | 53.0 60.2 47.5 | 14.0 24 1042 | 20
SC0212 R(PT) 1/4 | 40.0 | 45.7 | 40.8 | 10.0 15 | 401 | 25
SC0312 12 205 R(PT)3/8 | 467|550 459 110219 19 | 701 | 25
SC0412 R(PT)1/2 | 53.0| 60.2 | 50.1 | 14.0 24 | 1071 | 20

www.kccpr.com El - 71



E Ef.ff.% Egz (L:zt.c)j SC/SCS series

o

ALE REZ2

Q82|+ (GLIAN-SCH

£l mm
L L H Z2F | BOX
=24 @b | @P T mnjmay B A B lHey @ | (EA)
SCG0104 G 1/8 349 401|305 6.0 8 18.8 50
- 4 10.5 16.3
SCG0204 G 1/4 40.0 | 457 | 345 | 8.0 12 33.8 50
T SCG0106 G 1/8 349 401|312 | 6.0 8 18.7 50
— SCG0206 z 3 G 1/4 40.0 | 45.7 | 35.0 | 80 17.6 12 34.7 50
E SCG0306 ’ G 3/8 46.7 | 55.0 | 38.7 | 8.0 ’ 14 61.7 25
SCG0406 G1/2 53.0 602449 | 9.0 19 95.7 25
=l B SCG0108 G 1/8 349|401 330 6.0 8 19.7 50
“j SCG0208 G 1/4 40.0 | 45.7 | 36.8 | 8.0 12 35.7 50
[ j— - 8 14.5 18.7
SCG0308 G 3/8 46.7 | 55.0 | 40.1 | 8.0 14 62.7 25
_57 1 ) SCG0408 G1/2 53.0 1 60.2 458 | 9.0 19 96.7 20
- | al o SCG0110 G 1/8 349 140.1 359 6.0 8 21.2 25
—l 7®.|. Q SCG0210 10 17.5 G 1/4 40.0 | 45.7 | 388 | 8.0 19.6 12 37.2 25
L SCG0310 ’ G 3/8 46.7 | 55.0 422 | 80 ’ 14 64.2 25
L [ LT s ——
< \ T SCG0410 G1/2 53.0 1 60.2|475| 9.0 19 97.2 20
SCG0212 G1/4 400 | 457 | 408 | 8.0 12 38.1 25
SCG0312 12 | 20.5 G 3/8 467 | 55.0 1459 | 80 219 | 14 70.1 25
SCG0412 G1/2 53.0 60.2 | 50.1| 9.0 19 1041 20
=15 A =
UYL= (NPTLEAN-SCYH
T2l mm
L L H =3 BOX
2% @0 | oP T vy B A B ey @ | (EA)
SCuU1/8 1/8 7.6 |UNF10/32|27.2 1302|215 3.6 | 11.1|5/16 8.0 50
SCU5/32 UNF10/32 | 27.2 | 30.2 | 25.1 3.6 5/16 98 50
SCN15/32 5/32 | 10.5 | NPT1/8 | 349 | 40.1 | 305| 80 | 16.3|7/16 18.8 50
SCN25/32 NPT 1/4 | 40.0 | 45.7 | 345 | 10.0 19/32) 34.8 50
I SCU3/16 UNF 10/32| 27.2 | 30.2 | 266 | 3.6 5/16 9.7 50
SCN13/16 NPT 1/8 | 349 | 401|314 | 80 7/16 18.7 50
-~ 3/16 | 115 16.8
SCN23/16 NPT 1/4 | 40.0 | 45.7 | 35.3 | 10.0 19/32| 34.7 50
E SCN33/16 NPT 3/8 | 46.7 | 55.0 | 39.1 | 11.0 3/4 65.7 25
= - B — SCuU1/4 UNF10/32| 27.2 | 30.2 | 287 | 3.6 5/16 10.7 50
[7 SCN11/4 NPT 1/8 | 349 | 40.1 | 32.0 | 8.0 7/16 19.7 50
__U_| — 1/4 | 125 17.4
=5 SCN21/4 NPT 1/4 | 40.0 | 45.7 | 359 | 10.0 19/32| 35.7 50
( T W | SCN31/4 NPT 3/8 | 46.7 | 55.0 | 39.7 | 11.0 3/4 66.7 25
1 —i a o SCN15/16 NPT 1/8 | 349 | 40.1 | 33.0| 8.0 7/16 21.7 50
I SRS SCN25/16 NPT 1/4 | 40.0 | 457 | 36.8 | 10.0 19/32| 377 | 50
[ al N 546 145 18.7
%‘ SCN35/16 NPT 3/8 | 46.7 | 55.0 | 40.1 | 11.0 3/4 69.7 25
<{ ||| l‘.l\\ T SCN45/16 NPT 1/2 | 53.0| 60.2 | 45.8 | 14.0 15/16| 103.7 25
= SCN23/8 NPT 1/4 | 400 | 45.7 | 37.5 | 10.0 19/32| 39.2 25
SCN33/8 3/8 | 175 | NPT3/8 | 46.7 | 55.0  42.1 | 11.0| 20.2 | 3/4 70.2 25
SCN43/8 NPT 1/2 | 53.0| 60.2 | 47.3 | 14.0 15/16| 109.2 20
SCN31/2 NPT3/8 | 46.7 | 550|451 11.0 3/4 74.0 25
- 1/2 | 21.0 22.0
SCN41/2 NPT 1/2 | 53.0 | 60.2 | 50.5| 14.0 15/16/ 119.0 20

El- 72 www.kccpr.com



KCC Lﬁ%% ES% g_‘? SC/SCS series

AT|E ZEZ2

e[zl (R(PT)LIAD-SCSY

el i mm
oy @ | 2P | T i vl A | B | €| E |6 B9
SCSM504 M5X0.8P | 27.2 302 | 80 | 3.6 205 227123 50
SCS0104 4 105 | R(PT)1/8|34.9/40.1 11.0 80 | 163 205|265 143 50
P $CS0204 R(PT) 1/4 | 40.0 | 45.7 15.0| 10.0 205 265|143 50
. 22 SCSM506 M5X0.8P | 27.2 1 30.2| 80 | 3.6 225 247133 50 —
SCS0106 R(PT) 1/8 | 34.9 40.1|11.0| 8.0 241 285|150 50
, r.r' = f SCS0206 6 |12 R(PT) 1/4 | 40.0 457 | 15.0 | 10.0 17860 360 203 50 ]
® SCS0306 R(PT) 3/8|46.7  55.0 19.0| 11.0 26.0 413|233 25 HEAIE
1 ;.%E'}- © SCS0108 R(PT) 1/8 | 34.9 40.1|11.0| 8.0 25.4 306|162 50 T ome
7 t $CS0208 6 |14z R(PT) 1/4 | 40.0 45.7|15.0 | 10.0 15, 238 360193 50 e
. | SCS0308 R(PT) 3/8  46.7 |55.0 | 19.0 | 11.0 29.8 436|246 25
|' l\ SCS0408 R(PT) 1/2 | 53.0 | 60.2 | 24.0 | 14.0 29.8 484|266 20 EEz|mEl
iJ__'LJ\L SCS0210 R(PT) 1/4 | 40.0 | 45.7 | 15.0 | 10.0 30.7 1382203 25
! SCS0310 10 |17.5|R(PT)3/8  46.7 55.0|19.0 11.0 19.6 |31.7 449 246/ 25 —
E SCS0410 R(PT) 1/2 | 53.0 | 60.2 | 24.0 | 14.0 332 498267 20 '
SCS0212 R(PT) 1/4 | 40.0 457 | 15.0| 10.0 334 412218 25
SCS0312 12 | 20.5|R(PT)3/8 | 46.7 55.0|19.0 11.0 219|344 464 246/ 25 SCF
SCS0412 R(PT) 1/2 | 53.0 | 60.2 | 24.0| 14.0 35.9 513|267 20
ASCM
OIHR|4 = (GLIAD-SCSH
/4000
2l mm
o oD | op T i v g A | B | € | E | & |BOX KAfggg
SCSG0104 G1/8 |349 40180 | 6.0 205 265|143 50
2P scs60204 | ¢ 107 G4 400 457 120 80 | 07 205 265 143 50 SCPV
o | 2% SCSGO106 G1/8 |34.9 40180 | 6.0 241 285|150 50
pEEE SCSG0206 | 6 |125| G1/4 |40.0|457|12.0| 80 | 17.6 260 36.0 203| 50 KHVC
H i SCSG0306 G3/8 |46.7 550 14.0| 8.0 26.0 413|233 25
;Fl ”’0 SCSGO108 G1/8 |349 40180 6.0 25.4 306|162 50 CHVE
ﬂ SCSG0208 G1/4 |40.0 457120/ 8.0 288 360|193 50
—— T 8 145 18.7
/ SCSG0308 G3/8 |46.7 55.0/14.0| 8.0 298 436|246 25
- ' SCSG0408 G1/2 |53.0 602/17.0] 9.0 298 484 266 20 KHVU
SCSG0210 G1/4 |40.0 457 /12.0| 8.0 30.7 382|203 25
!q: _ \L SCSG0310 | 10 |17.5 G3/8 |46.7 550 14.0| 8.0 | 19.6 |31.7 449 246| 25 KHVM
> SCSG0410 G1/2 |53.0 602 17.0| 9.0 332 498|267 20
= . SCSG0212 G1/4 |40.0 457 12.0| 8.0 334 412218 25 KHBVU
SCSG0312 | 12 |205 G3/8 |46.7 550|140 80 219 344|464 246/ 25
SCSG0412 G1/2 |53.0 602 17.0| 9.0 35.9 513|267 20 -

www.kccpr.com El - 73



